Math 2431 – 102
Spring 2010 – Test 2 – Part I
NAME__________________________________________________
NO electronic devices may be used during this portion of the test. Show all work. 
Answers without any work or explanation may receive only partial credit or no credit at all.
Each question is 6 points.

If you need more space for work, please use the back of page 2 or 3.
For #1–7, find the first derivative.
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. Simplify your answer.

NAME__________________________________________________ 
If you need more space for work, please use the back of page 1 or 3.
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For #8–9, find the second derivative.
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10. Find the equation of the tangent line to 
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11. Find where the function, 
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, has horizontal tangent line(s).

NAME__________________________________________________ 
If you need more space for work, please use the back of page 1 or 2.
12. The graph of 
[image: image13.wmf](

)

fx

¢¢

 is given below. On what intervals is 
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 concave up? Explain. 

Note: The domain of 
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13. Find the inflection point(s) on the graph of 
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Math 2431 – 102
Spring 2010 – Test 1 – Part II
NAME__________________________________________________
No electronic devices (other than TI calculator and/or Mathematica) may be used during the test. 

Answers without any work or explanation may receive only partial credit or no credit at all. 

Show all work – you may print your work from Mathematica. 

Each question is 6 points.
14. Find the equation of the tangent line to 
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 at the point (2, 2). Show YOUR work.
15. Sketch 
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. For what value(s) of x is the equation not differentiable? Explain.
16. Find the second derivative of the parametric equation 
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. Show YOUR work.
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